
Despatch Checklist 
B4HN9005SYF (GA50002013)

Work order No. 

Finish :

Transport: 

Due Date:

All parts checked and completed by:
Nut and bolts:	 __________________________ 	 Date ___/___/___
Order control:	 __________________________ 	 Date ___/___/___
Final wrap check:	 __________________________ 	 Date ___/___/___

______/______
Wrapper’s initials / Checker initials

Is this product “the best it can be” Yes 

If NO fix before continuingSTOP

	☐ OC__1 - Steel mounting bracket
	☐ OC__ 2 - 4" Overriders (CA02 rubber)
	☐ OC__ 2 - Blank Badges - Fitted to Overriders 
	☐ OC    2 - LED Parker Lights (ICLED33IND-95200)
	☐ OC   1 - Bolt kit 
	☐ WR__1 - Steel mounting bracket - FITTED TO BAR
	☐ WR   2 - 4" Overriders - FITTED TO BAR
	☐ WR__2 - LED Parker Lights - FITTED TO BAR
	☐ WR__2 - Eyebolts (3/4 unc zp) and washers - FITTED TO BAR
	☐ WR   2 - 5/8 x 2 1/2" UNC bolt grade 8HT - FITTED TO BAR
	☐ WR__2 - 5/8 Nyloc Nuts - FITTED TO BAR
	☐ WR__4 - 5/8" Flat Washers  - FITTED TO BAR
	☐ WR__1 - Bolt kit Box - TAPED TO BAR

REPLACES: 14.07.21
REVISED: 22.10.21



Bolt Area

______/______
Bolt Kit / Checker initials

______/______
Wrapper’s initials / Checker initials

Steel mounting bracket

Pre-fitted bolts and Parts
1 - Steel Mounting Bracket 2 - 5/8 x 2 1/2 UNC Grade 8H/T bolts

2 - 3/4 UNC Z/P Eyebolts (ICEYEBOLT) 2 - 5/8 Nyloc nuts

2 - 3/4 Flat Washers 4 - 5/8 flat washers

2 - 5/8 x 2 1/2 UNC Grade 8H/T bolts

Fitting Kit
2 - Steel Chassis Support mounts 8 - 3/8 x 3 bolts (full thread) 

4 - M12 x 1.25 x 40mm bolts. 16 - 10mm flat washers

8 - 1/2 x 2" bolts 8 - 3/8 nyloc nuts

4 - 1/2 spring washers 2 - Hino Harness 700 Series - ICHSS700FM1A

20 - 1/2 flat washers 1 - Tilt Cab Warning Sticker

8 - 1/2 nyloc nuts

Steel mounting bracket 

- Fitted to bar

Steel Chassis support Mounts

- In bolt kit


